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y=0.0165 x+0.0270
r=0.970

0.0

5.3

5-6

0.100

(ppm)

0.050

NOx

y=0.0662 x +0.0353
r=0.993

0.000

0.100

(ppm)

0.050

NOx

0.000

y =0.0436 x + 0.0290
r=1.000

0.100

(ppm)

0.050

NOx

0.000

y=0.0064 x +0.0118
r=0.936

NOx




0.040

(ppm)

T

0.020

0.000

y =0.0098 x +0.0253
r=0.971

1 L 1 L

0.040

(ppm)

0.020 M

1.5

) L i
Z
y=0.0034 x +0.0202
L r=0.982 i
0.000 L L L .
0.0 0.5 1.0
()

0.040 ‘ , ‘ :
| ]
o
RS

0.020
) L i
Z

y=0.0084 x +0.0142
L r=0.984 ]
0.000 : . L L
0.0 0.5 1.0
()
5.4

0.040 .
Bl
2, 1
NS
0.020 =
) L |
Z
y=0.0188x+0.0212
+ r=0.977 g
0.000 L 1 L 1 L
0.0 0.5 1.0 1.5
()
0.040
e
a, 1
S
0.020 =
o L |
Z
y=0.0168 x +0.0178
F r=0.995 4
0.000 L | L | L
0.0 0.5 1.0 1.5
()
0.040 : ‘ , ‘ :
g. r y=0.0041 x +0.0076 1
= r=0915
0.020 =

NO,
T
\

0.000 L 1 L 1 L
0.0

NO,



5.1 NOx
Y( NOx ;ppm)=a><X( )+b
a b(ppm)
0.0342 0.0578
0.0662 0.0353
0.0058 0.0302
0.0436 0.0290
0.0165 0.0270
0.0064 0.0118
5.2 NOx
NOx (ppm)
1 2007/12 2008/11 2 2008/12 2009/11
( (
) )
( ) 0.061 0.057 0.004 0.057 0.054 0.003
( ) 0.045 0.043 0.002 0.042 0.039 0.003
( ) 0.037 0.037 0.000 0.029
( ) 0.039 0.036 0.003 0.035 0.033 0.002
( ) 0.013 0.012 0.001 0.011 0.010 0.001
( ) 0.033 0.030 0.003 0.034 0.032 0.002
5.3 NO,
Y( NO, ;ppm)=a><X( )+b
a b(ppm)
0.0098 0.025
0.0188 0.021
0.0034 0.020
0.0168 0.018
0.0084 0.014
0.0041 0.008
5.4 NO,
NO,  (ppm)
1 2007/12 2008/11 2 2008/12 2009/11
( (
) )
( ) 0.027 0.026 0.001 0.026 0.025 0.001
( ) 0.022 0.022 0.000 0.021 0.020 0.001
( ) 0.022 0.021 0.001 0.018
( ) 0.020 0.020 0.000 0.019 0.018 0.001
( ) 0.018 0.017 0.001 0.017 0.016 0.001
( ) 0.008 0.008 0.000 0.006 0.006 0.000




NO, 98%
NO, 98% ( )
NO, 98%
NO, 98% ( )
NO; 98% ( ) 5.5 98%
3 0.002
3ppm 3 0.001ppm
NO, 98% NO;
98% 3 0.001ppm NO,
98%
5.5 98%
NO, 98%  (ppm)
1 2007/12 2008/11 2 2008/12 2009/11
98% 98%
98% ( 98% (
) )
) 0.045 0.043 0.002 0.044 0.043 0.001
) 0.038 0.037 0.001 0.036 0.035 0.001
) 0.036 0.036 0.000 0.034 —
) 0.034 0.033 0.001 0.034 0.032 0.002
) 0.034 0.029 0.005 0.030 0.027 0.003
) 0.020 0.020 0.000 0.017 0.016 0.001
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NO; 98%

NO,

NO, 1
NO,

NO;
NO, 0.001ppm NO,

NO, 98%
NO, 98% 3 0.001ppm
NO, 98%
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5.2 NOX NO,  98%
NOX 98%

1999 2008
NOx 98%
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1)NOx

NOx
[NO2Jx  a[NOx]r"(1 [NOxlsg [NOxIr)'
[NOx] r (Ppm)
[NO2] r (Ppm)
[NOx]sc (Ppm)
[NOX]r [NOxJr [NOX]ee
NOx
NOx 5.6 NOx
NOx NO,
5.5
NOXx
NOx
NOx NO,
NOx N02
=+0.001ppm
5.6 NOx
o p Y
1999 2008 0.0693 0.429 0.810
0.0643 0.400 0.833
0.0776 0.508 0.665
0.0897 0.496 1.047
( ) 0.0620 0.366 0910
( ) 0.0554 0.327 1253
0.0644 0411 0.764
0.0871 0.466 0.987
0.0894 0.483 1.118
( ) 0.0628 0.381 0.840
( ) 0.0578 0.353 1.204
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(ppm)

NO,

(ppm)

NO,

(ppm)

NO,

0.08

0.06 ¢
0.04
0.02 y = 0.986 x + 0.0005
r=0.999
F n=3106 1
7 =0.0003 ppm
0 i L L ' L ' L
0 0.02 0.04 0.06 0.08
NO, (ppm)
0.08 T T : : _
0.06
0.04 /
0.02 y =0.999 x — 0.0005
r=0.997
- n=178 1
’ =0.0005 ppm
0 i L L ' L ' L
0 0.02 0.04 0.06 0.08
NO, (ppm)

0.08 T T T : -
0.06 7

0.04

0.02

y = 1.066 x — 0.0022
r=0.997

n=391 b
=0.0007 ppm
0 z L L L | L
0 0.02 0.04 0.06 0.08
NO, (ppm)
5.5
NO,

0.08 -
z ]
g ,
o .
~ 0.06 -
0.04
o 002 y=0983x+0.0008 |
% r=0.998
n=2497 1
’ =0.0005 ppm
0 z ! ! . ! . !
0 0.02 0.04 0.06 0.08
NO, (ppm)
0.08
B
[=9
£ 006 .
0.04 - ;/
0.02 y=0929x +0.0008 |
o) r=0.997
Z =609
B =0.0005 ppm
0 | | ,
0 0.02 0.04 0.06 0.08
NO, (ppm)
NO2 (ppm)
0.010 0.010 0.000
0.030 0.030 0.000
0.050 0.050 0.000
0.010 0.009 -0.001
0.030 0.029 -0.001
0.050 0.049 -0.001
0.010 0.008 -0.002
NOx 0.030| 0.030] 0.000
0.050 0.051 0.001
0.010 0.011 0.001
( ) 0.030 0.030 0.000
0.050 0.050 0.000
0.010 0.010 0.000
( ) 0.030 0.029 -0.001
0.050 0.047 -0.003
NOXx
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2)N0,  98%

NO, 98%
[ 98% ] a([NOyJg [NO:lgg) b
a a B exp(-[NOyJr [NO:]sc)
b y & exp(-[NOyJr [NOz]zc)
[NOz]r (Ppm)
[NOz]sG (Ppm)
NO, 98%
NO, 98% 5.7
98% NO, 98%
NO, 98% NO, 98% 5.6
NO, 98%
NO2 98%
NO2 98% NO,
NO2 98%
NO, 98%
NO:2 98% NO,
98% NO2 98%
NO, 98% =+0.002ppm
5.7 NO,  98%
p Y d
1999 2008 1.32 0.15 0.0075 0.0001
128 0.17| 00089 | -0.0008
1.40 -0.17 0.0063 0.0066
1.48 -0.05 0.0027 0.0033
( ) 1.31 0.11 0.0074 0.0018
( ) 1.39 -0.13 0.0079 0.0025
1.36 0.06 0.0064 0.0031
1.26 0.12 0.0053 0.0048
1.30 0.15 0.0098 -0.0048
( ) 1.33 0.09 0.0071 0.0026
( ) 1.52 -0.27 0.0037 0.0077
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(ppm)

98%

NO,

(ppm)

98%

NO,

(ppm)

98%

NO,

0.1

0.08
0.06
0.04
y =0.984 x +0.0010
0.02 r=0.999
. n=3106 i
=0.0004 ppm
0 1 1 1 1 1
0 0.02 0.04 0.06 0.08 0.1
NO, 98% (ppm)
0.1 T T T T T /
0.08 a
e
0.04
- y =0.936 x +0.0029
0.02 - r=0.998
| ‘ n=178 i
/ =0.0006 ppm
0 1 1 1 1 1
0 0.02 0.04 0.06 0.08 0.1
NO, 98% (ppm)
0.1 T T T T —
0.08 i
0.06
0.04 -
y=1.070 x — 0.0044
0.02 74 r=0.999
| // n=391 |
/ =0.0006 ppm
0 4 L L L L L
0 0.02 0.04 0.06 0.08 0.1
NO,  98% (ppm)
5.6
NO, 98%
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(ppm)

98%

NO,

(ppm)

98%

NO,

01 T T T T T 7
0.08
0.06
0.04
y=0.981 x +0.0012
0.02 / r=0.999
. n=2497 i
. =0.0004 ppm
0 4 L L L L L
0 0.02 0.04 0.06 0.08 0.1
NO, 98% (ppm)
0.1 T T T T —
0.08 -
0.06
0.04
y=0.970 x +0.0013
0.02 / r=0.995
. n =609 |
7 =0.0010 ppm
0 . . P .
0 0.02 0.04 0.06 0.08 0.1
NO,  98% (ppm)
NO2 98% (ppm)
0.020 0.021 0.001
0.050 0.050 0.000
0.080 0.080 0.000
0.020 0.022 0.002
0.050 0.050 0.000
0.080 0.078 -0.002
0.020 0.017 -0.003
98% 0.050 0.049 -0.001
0.080 0.081 0.001
0.020 0.021 0.001
( ) 0.050 0.050 0.000
0.080 0.080 0.000
0.020 0.021 0.001
( ) 0.050 0.050 0.000
0.080 0.079 -0.001
NO, 98%




3)SPM

2%

SPM

SPM 2%
[ 2% ] a([SPM]x [SPMlgg) b
a o B exp(-[SPM]r [SPM]gc)
b vy & exp(-[SPM]r [SPM]gg)
[SPM]r (mg/m’)
[SPMIsg (mg/m”)
SPM 2%
SPM 2% 5.8
SPM 2% SPM 2%
SPM 2% SPM 2% 5.7
SPM 2%
SPM 2%
SPM 2% SPM 2%
SPM 2%
SPM 2%
SPM
SPM 2%
2% SPM
SPM 2%
5.8 SPM 2%
o B Y )
1999 2008 1.83 0.13 0.0009 0.0109
1.90 0.06 | -0.0015 0.0136
1.12 0.61 0.0240 | -0.0084
1.86 0.11 0.0004 0.0167
( ) 1.99 -0.05 | -0.0057 0.0188
( ) 1.70 0.29 0.0069 0.0031
1.85 0.11 0.0012 0.0105
1.07 1.25 0.0214 | -0.0205
1.48 0.51 0.0099 0.0019
( ) 2.00 0.07 | -0.0056 0.0186
( ) 1.71 0.27 0.0081 0.0020
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(mg/m’)

2%

(mg/m3) SPM

2%

SPM

(mg/m3)

2%

SPM

0.2 : . . — 0.2 : . ; o
’ oD
7’ é o
0.15 0.15
0.1 0.1
1 . i
N
0.05 y = 1.009 x — 0.0005 ] 0.05 y=1.010 x — 0.0005
r=0.999 r=0.999
- n=2253 . 2 - 0= 1843 ]
, =0.0004 mg/m’ 7 . | = o.looos mg/m’
- A DR . . . .
0 0
0 0.05 0.1 0.15 . 02 0 0.05 0.1 0.15 02
SPM 2% (mg/m’) SPM 2% (mg/m’)
0.2 ; ; ; — 0.2 : . ; .
// on 3
0.15 . E 015
0.1 ~ e 0.1
N
0.05 - y= 0816 +0.0100 005 y=0.997 x +0.0001
/ r=0.997 r=0.999
7 n=163 1 s , n=410 .
7 =0.0010 mg/m3 [ / =0.0006 mg/m3
0 . R DR B « 0 . N R R
0.05 0.1 0.15 02 0 0.05 0.1 0.15 02
SPM 2% (mg/m’) SPM 2% (mg/m’)
0 . 2 T T T T ) 7 SPM 2% (mg/m3)
] 0.050] 0.050] _0.000
0.15 A 0.100] 0.100] " 0.000
0.150 0.151] 0.001
P : 0.050 ] 0.051] 0.001
; 0.100 0.092] -0.008
0.1 / 0.150 | 0.132] -0.018
2% 0.050 | 0.050 [ 0.000
1 0.100]  0.098] -0.003
0.150 0.145] -0.005
0.05 y=0.942 x +0.0033 0.050]  0.050[ 0.000
r=0.999 0.100] 0.101] 0.001
, n=256 1 ( )
) - 0.0006 mg/n’ 0.150 0.151] 0.001
okl . R 0.050 ] 0.050]  0.000
0.05 0.1 0.15 . 02 ( y[_0-100] o0.100] 0.000
SPM 2% (mg/m”) 0.150] 0.150] 0.000
5.7
SPM 2%

5-17



NOx

SPM

5.9

2%

NOx NO; 98 SPM2
NOx NO, 98 SPM2
NOx NO, 98
5.9
NO; 98
SPM 2%
NOx NO, 98 SPM2
NO, SPM
NOx 2%
98%
o o
o
o
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